-2x+5="7-5x
DO -2x+5x=T74+5 @ -2x-5x=7-5
® -2x-5x=7+5 @ -2x+5x=-7-5

@—2)6—1—5)6:7—5

-2x+5x=7-5




R

D 23 +x)-2x=0 @ 3x—4=4+3x
@r-2+1-+x-1 @ 3-2+20

® -x+3=-x+5

@x-2x+1=x2+x-1>-2x+1=x-1(L%




+1=2 @ x+1=-x+1

@x2+3x:1 @2(x—1)=—1+2x

® x% +3x=1: "9 Faapgto] )7} oyt
@2x-2=-142x > 2x-2x = -1+2 - 0 = 1 (LA A 0]
ofytt.)




N ©

o) 45 FstH
12— (1-x) =4(2+x)
12-1+x=4x+38
3x=3

Lx=1




Ay

@ x=-3 @ x=-2

@ x=2 (@)xz?;
B

1941 7 - 1.4x = 0.3(2x — 1) + 1.3 9] 3fl=2

®x=1

70— 14x =3(2x—1) + 13
70 — 14x = 6x— 3+ 13
20x=70+3-13
20x = 60

L x=3




24 EL olsfsta, Fotel AL x 2 Fich
- BAl] Lho 53 x o] 02 ekt
— BA|9] o] njet WAL ALt

S g Ae Eot

— 72 sfi7F 2A419] ol A &Rl




7. xol TSN ax+b=029 57} & 202

D a=0,b=0 (@)azo,b;ﬁo ® a+0, b=0
@ a+0,b#0 ® a#0

ax=-b N A7t A 2ALa=0, b #0 ot}




g & A4 3 - 5x = —3x+4 9] B9} T2 S 2= A4
29

@® 5x+2=17 @ Tx-11=4x-1
® x+8=-2(x-1) @)3(ax-7) = 1-7(2x+ 5)
® —5(x+6)=12(x-4)

B ~

3-5x=-3x+4
-2x=1

LXx=-—=

2
® b5x+2=17
5x=15 .. x=3

@ Tx-11=4x-1
10

3x=10 .. ==
X X 3

® x+8=-2(x-1)
Xx+8=-2x+2
3x=-6 .. x=-2

@ 3(4x-7)=1-7(2x+5)
12x-21=1-14x-35
1
26x = -13 .. x:—§
® -5(x+6)=12(x-4)
—5x—30 = 12x — 48
~17x = -18
18

x:ﬁ




2 4] 2x+1:x—394_8H1_1:_?
3 4
@x——3 @x:—

8 13
3 @x =75
8
5

2x+1 x-3

3 4
Frol 3 1 4 of FAFHlS 12
4(2x+1)=3(x-3)
8x+4=3x-9

ox = —13
13

L H==—

5

£ Fs




10. x o] ¥+ o }%@ﬁ@—m:u+) 039 Si7ta & o,
=50

x+2 = 3(6 — x)°A
x+2=18-3x
4x = 16

Lx=4

a+b=5
44+b=5
T bh=1




11, xoof T dAFAHA (T-x) : (x+3) =2:5 9 37}t a & o,
Ta—b =20 o[t} b O] FE2
® 1 @ 3 ® 5 @7 @)

2(x +3) = 5(7 - x)°ll A
2x+6 =35 - bx
7x =29
L
nx=5
29
TX = —b=20
*7
29 — b =20
b=




=

x O S A 64a=-2x+59 A7t x=-3 LD 0}, ¢ O 22

@ 3 @ 4 @5 @ 6 e 7

6+a=-2x+5
x=-3& HYstdA
6+a=6+5
a=>5




13.

F&a,bo] ot a@b=2(a+b)—ab ¥ W, x| FH-2?

(Be(x+1)}+{(2x-4) @1} =8

@ 4 @5 ® 6

~&B

Be(x+1}+{(2x-4) @1} =8
{2+ 4) =30+ 1)}
+{2(2x-3) - (2x-4)} =8
(—x+5)+(2x-2)=8

x+3=28

SoX=5




_6b+4 x-b+6 x-3

14. ax 5 = 3 3 = WESh= 5713 4 o, o 9
&2
On @ 2 ® 3 @ 4 ® 5

x =13 & tYstH
6b—|—4_13—b—|—6_13—3o]1
2 8 -5 ’

T=2°ﬂ/‘1b=3

13a —

22
13a—?:2°ﬂ/‘1a:1




15. WAA03(x-4) =04x-1F ax+3 =2x-72] 7} & M, a 9
Z2?

O -14 @ -7 ® -2 @7 ® 14

B ~

03x—12=04x-1
—-0.1x =0.2
Lx=-2

ax + 3 =2x - 79 x=-25 t4stH
—2a+3=-11

—2a=-14

La="T




